Problem 4.69

If an 8-K( load is connected to the terminals of the network shown, VAB = 16V.  If a 2-K( load is connected to the terminals VAB = 8V.  Find VAB if a 20K( load is connected to the terminals.
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V

AB

 = Voc[ R

L

 / (R

L

 + Rth) ]  =>  Voc = V

AB

 [ 1 + Rth / R

L

 ]



If R

L

 = 8K

W

, V

AB

 = 16V  =>   Voc = 16 [ 1 + Rth / 8K ]



If R

L

 = 2K

W

, V

AB

 = 8V  =>   Voc = 8 [ 1 + Rth / 2K ]



yield:  Rth = 4K

W

  and   Voc = 24V



If RL = 20K

W

,  V

AB

 = 24 [ 20 / (20 + 4) ]

V

AB

 = 20 V


_1052048056.bin

_1051827195.bin

